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140799985 |EMNE  [MA/RETWAR (E#E) [070700  [[HERIE VST 366| 568.5|2H%| |[#E =%
371799151 [BETIRR  |M/RETAE (EE) [070700  |iEERIE = 351| 583.7|2H% TE —_=
370278955 [la/RiET WA (EiE ) (070700 [[&ERIE BENE 349|538.97|2H4%| |[%#E ==
370686261 |ZFEFHE  [MA/RET RS (EE ) |070700  [iEFRIE SEE 326]515.17[284 i —_=
131198839|5K1A  |M/RETIAZE (&S ) [070700 [[EFRIZ EEE 359|569.25[&Hl e =%
230199422 | F BRETI AR (S ) (070700  [EFRlE EELE 366(559.27|2 B4l g =%
230198728|Z 5 I8/RETIAS (FE#g) |070700 iSRS BENE 354| 553.1|2H4%] |[%##E =%
152398691 |BME  |B/RETIVAZE (EE) |070700  |iEERI=E = 354| 549.1|2£8% g =%
370697110|fBRFE  [ra/RET WA (EiE ) (070700 [[&ERPE BENE 348| 5445|284 |%#E =%
415099785 THZfZ  |MA/RIET LK% (BiE) 070700  [iEFRlE EEF 366(543.75|2 0%  |%#*E =%
415099315 |3K S [IA/RET RS (EEE ) 070700  [EERIF B 366(|542.25| 2 H% = =%
231295755 TKHh  [MA/RiET A (EE ) 070700  [i&FRIE B E 348[529.13[2H4 mE =%
230198882|={f=F [R/RETIAZ (EE) [070700 [EFRIE SEE 363|528.25| 2B e =%
152198739, BEZE  |K/RETIAZE (FE) [070700 [[EFRIF B E 340 s519|2H% rE =%
614698049 FEE  [ra/RET WA (g ) [070700 [[&FERlE SEE 334 503.5|28% Y =%
370680462 |XISCHE  [ME/RETAAS (EE ) |070700  [EFRIE BEE 332| 4955|284 mE =%
413996097 |5K5EHE  |M/REETMIRE (BiE ) |070700 [EFRIE S 338[494.25| 2 H% = =%
371094533 FhAEt  [ma/RiET A (S ) [070700  [EFREE EEEYS 353|611.53|£H% [%E —_=
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230199981 |FEhA  [a/RiET AL (S ) [070700  [EFREE SEEYS 339(592.66|£H% |FE _%
211298263| EXHr  |K/RETASE (EE) (070700  |[i&FEREE EEEY)S 338[557.33[2/% Gingd -
230199999 |Z=IHEf IB/RETIKZ (BiE) 070700  |iEFRlEF EEEYE 371| 624.4|£H% Gied =
230199389 FE7E  |K/RETASE (EE) (070700  |i&FERIEE HEEY)S 361| 620.4|28% Gigd =%
370499325[;BRIE  [MA/RiET A (B ) |070700  [iEFRIE EEEYS 352| 609.2[2HH mE =%
232508833 F(FFE  [la/RET WA (B ) [070700 [[EERIE EBEEYS 368| 604|2H% |#E =%
230199311|1&#81E  [A/RiET A (B ) |070700  [iEFERIE EEEYS 351 600.3[2H% mE =%
4125996234 AB N,  |M/RETAAE (RS ) 070700  [EERIF EBEEYS 354| 592.2|&2H4] |#E =%
130293958| FiEfk  |M/RETIAZE (EE) [070700  [[EFRIF EEEYS 322 s21|2BH i =%
370695488 | =1 I8/RETIAE (FEE) |070700 |iEFRIE EBEEYS 353| s521|2H4%  |[#E =%
232597633|ZRRAX  [MA/RET MRS (B ) [070700  [iEFERIE EEEYS 331] su4|eBH g =%
371094979 éﬁ% ﬂé\fﬂiilﬂkkf%‘—(}?ﬁi’é) 070700 [|i&FRlE SEEYE 319 s12[2F% mE E\
231198419| FF IBETIAE (ESE ) [070700 |i&FERlEF SEEYS 332 s10l2BH mE =%
230199799 %?H IB/RETWAE (EE) [070700  [EFRIE ESEEYE 311 492[2g% mE E
371593583 |7 E IBETIAE (ESE ) [070700 |i&FERlEF SEEYS 313 484|2B% mE =%
371095573 | £E8H I8/RETIAS (Fg) |070700 iSRS BERESHE 341|558.94|£H4| |#E ==
371098155 |XI{E IBETIAE (ESE ) [070700 |i&FERlEF BERRSNE 352| 550.4|284 mE —_=F
360399369 | 1R I8/RETIAS (Fg) |070700 iSRS BERESHE 336|522.47|2H4%| |#E :%
220596586 BB  |K/RETAS (&g ) (070700  |[iE&FREE BERRSNE 322|508.17|2HE FE —_F
370293083| 75 I8/RETIAS (FE#g) |070700 iSRS BERESIHE 383 642.5|2H% |&E E
142597402|ZFRGE  |K/RETIAS (FE) [070700  [[EFRIF EBFERBESINME 367| 640.2[28% i ==
411495382| B EE  [la/RETW A (BEE) (070700  |i&FRF BERESNE 382[638.55| = H%! mE E
371090477|FFR  [FA/RETAAS (EE ) 070700  [EFRIE EBFERBESME 376] 637.2[284 i ==
130392602|REME  |KA/RETWASE (E:E) [070700 [[EFRIF BERESNE 375| 6345|285 mE =5
441699192| ]  [B/RETIAZE (BEE) [070700  [EFRIF BERESHE 360 632.9[2£B% |%&%E =%
220797709 | FiFi&E uﬁfﬂiﬁﬂkjc;-%(@z;%) 070700 [|i&FRlE BERESNE 377| 631.2|&28% mE E
420292707| F= BRETIAZE (FE) |070700  |[/EFEREE HERBESING 383| 629.7|2H% g =F
511799113 |#ET /J\,EIleC—?— (B ) [070700  [FRIE BERESE 378|627.45| 2 H% mE =5
342495300[8—H#8  [MA/RiET MRS (EE ) 070700  [iEFRIE EERESHE 380[626.15|20 4! gmE =%
441698046| =L |B/RETIAE (EEE ) 070700  [EERF BERESE 380(625.95| 2 H%! mE =5
370188302|KEHE  [WA/RETILKE (B ) 070700  [[EFREE EBFRFESINE 361| 625.1|=H#  |[&HE =%
371095096 X3 EE  [a/RiETW A (B ) [070700  [[EERIE BERESE 380(622.35[2HH! gk =5
370276407 [IFBE  |MA/RETIAZE (EE) 1080200  |HUMTIE HUEEF T2 339| 575.7|28% G %
230196115|ZFF58  |K/RETIAS (RS ) (080200  |HILiE W T2 342| 579.4|2H% ik ==
371098520 #K{R IA/RETIE (BE) [080200 [HIMTEE VR T2 333| 577.9|28% mE =%
23239849315 [ra/RiET A (EiE ) (080200  [#HUTAE HUREEF T2 330 573.5|28% mE =
230696935 XIJFE Ia/RETIAE (ERS ) (080200  [HUMTAE HREEF T2 343| 573.3|&2H% |F#E ==
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230198165817 IA/RETE (B ) [080200  [HUWTAE HREBFILiE 331 572.9|=H#l |%E =

422897690 [{A3CHE  [MA/RETAZ (BE) [080200  [#HMIAE WA F 112 345| 572.7|=H#  |&E =%
371595471 kAR [ia/RiETWAE (BiE ) (080200  [HUTAE HUREEF T2 330| 572.2|2B4] |[%% =

152397513 |E¥{E Ia/RE A (ERE ) [080200  [HUMTAE HUMER F Ti2 333| 569.9|£H4| |#E =%
370286619|RE5E  [MA/RETIAE (B ) (080200  [HUHMTAE FERIFE 422| 642.2|2H% |&m=E ==
501399837 [FEF  [M/RETI A (EE) 1080200  |HLMLiE FRTIE 406| 627.6|28% g —&
422094937 | FFN  [BRETIAE (BERE) (080200  [HUMTIE EIRTIE 386| 618.8|2H% |#E —_=
370397879|ERFE  |IA/RIET RS (B ) |080200  [HIMTHE FHTE 412| 618.6|2H%  |FE —%
371095969 HFE  [a/RiET I AZ (BiE ) (080200  [HUTHE EIRTIE 395| 615.2|&£H4] |[%#E —_=
370397985|1&7clE  [a/RET WA (EiE ) (080200  [HUWTAE IRz 380| 613.2|2H4%| |#E ==
3710992753KEE  [ia/RET WA (B ) (080200  [HUTHE EIRTIE 394| 612.8|&2H4] |[%#E —_=
212097517 |ZEH  |B/RETIAS (EiE) (080200  [HUMIEE IRz 402 602|2B% |&E ==
130394446|Z%FIE  |M/RETIAZS (&) [080200  [HUA TR FRIE 371] 599.6|2H% mE —_=
371099300 3K=R Ia/RET A (ERE ) [080200  [HUMTAE iRz 371 599.6|2H%| |[#E ==
370283400;FFEAET  |M/RETIWAS (RS ) (080200  |HHILiE FIRTIE 373| 598.6|2HH FE —_ZF
370399877|EihE  [la/RET WA (EiE ) (080200  [HUMTAE iRz 396| 597.6|2H4%| |[#E ==
371094653|EFHT  [B/RETIAS (EE ) (080200  |HlMLiE FRIE 368 s592[2H% mE —_=F
421298222| 8] = |IB/RETWAS (B ) (080200  [HUMTIE iRz 399| 590.6|&2H4%| |[#E ==
620991413SBiEE  [MA/RETIAE (EiE) [080400  [(=5RlI=5SHK AXDHAREH 361| 627.5|284 mE =%
220787265 3K % IB/RETIAS (FHE) (080400  |[{MESRIFSHRA  [FAXSHAREH 355] 622.5|2H% |&mE =%
371092707|EEFE  [MA/RETIKE (EiE) [080400  [E5RIF=5HK AXDHAREH 347]613.25|284 mE =%
371096205 | Rk IE/RETIAS (FE) (080400  |[NESRIZSHEA AXDHFRLEE 344|612.25|2H4%] |%#E =%
371094268|ZFR IB/RETIAE (EE) [080400  [(E5RIF5SHR AXDHAREH 350[597.25|2 04 mE =%
230198205 iR&EF  |WB/RETIAS (EiE) (080400 [{YESRIZFEHRA AXDHFRLEE 347| 596|2H4% |%#E =%
230196839|5%2F  |MA/RETIAZ (EiE) |080400 [{NESRIZ 5K AX D AR5 337| 584.5|284 g =F
370294976 |XISCHE  |M/RETIAZ (B ) (080400  [{YESRIZFEHA AXDHFRLEE 333|571.25|2H4] |[%#E =%
371093160[XIBE  |MA/RETIAZ (EiE) |080400 [{NESRIZF5HK AXDHAREH 338[569.25| 204! g =%
371092502|RHEF  |M/RETIAZ (B ) (080500 [#RIRIZFETIE MR 362| 564.7|2H%] |%#E ==
370996347 14T MB/RETIAS (EE) [080500 |[#MERIZFSTIE Rl=s 359| 541.6|2 B4 Gk —=
210196877 |EtE IB/RETIAE (EE) (080500 [#MERIFETIE Rl 347|567.25|2HEl g ==
321794797 [#A LA, [MA/REETIAE (B ) (080500  [#MRIRIES5THE ML 359[562.25|2H4 mE =%
371096971 |AREIH  [MA/RETIAE (FEiE) [080500 [MAERIZFSTIE RN TIE 407| 634.3|2H% = ==
371097309 XBAME  [MA/RETIAE (EiE) [080500 [#MEIEIFSTHE MEDITTE 418 634|2B% rE —_=
3710969753 IB/RETAE (EE) [080500  [#MEIRIZSTIE RN TIE 387 595|2HH gE —=
321298896 | F-BE% BRETIAZS (EE) (080500 [#MREIFETE RN THE 357| 590.6|£B%! g —_5
371098691 FFEH  [IA/RETIAE (EiE) [080500 [MAERIZFSTIE RN TIE 379(590.37| 2 H% = =
371096978| F—Mfl  [M&/RET VA (B ) [080500 [MARIFESTIE MEINTTIE 380| 581.1|£H% [4%= =%
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413497103 |25 IB/RETIAE (EE) [080500  [MEIRIZFSTIE RN TIE 347|559.75|2H% |FE —_=
371093684 |tk 738 MB/RETIAY (EE) [080500 |[#MEERIZFSTIE RPN T TR 338| 536.5|2H4 Gk —_=
371096371 F&ERk  |M/RETWAS (&g ) (080500 |#RIRIFSTIE MR TiE 398[611.33[2F% gk ==
230198669 | F &, IB/RETIAE (EE) [080500  [MEIEIFSTEE RIIT T2 375]602.13[2B% e =%
142096056 [fXtHZ,  |IA/RETIAZ (EiE) 080700  |sihTRERIEAE [ FAXDHRAHE 365| 576.5|2H% mE =
371097417 [#AEER  [ia/RET WA (B ) (080800 [EBETIE XSG 358|581.37|&H%| |#E ==
230195485| &M |WB/RETIAZ (EiE) [080900  [BFEIFSHEA HMEFFSEIRETZ 363] 554[£B%H  |%E =%
140199023| 48 7%  [B/RETIKE (E;fE) [081000 1:. SEELE |BE5ERxEA 362| 607|£B#H |&%E —_=
230198080 /2B [ma/RiETMlAZ: (EiE ) (081000 BEE5BETRE BIESEERR 356] 603.1[2HH mE =%
370293907 |&=EH  |/RETWAZ (EiE ) (081000 %%'—5@%1& SSS5EEAE 360 594|2H4% |#E ==
321690039|FRAEET  [MA/RETI A (EE ) 081000 {Zu S5BETE E%'—i%%ﬂ*fi 350] 576.5|2H% g —F
230197955(F=  [&/REETIAE (EiE) (081000 [EESEEIRE SS5EE4E 363| 603.9|28% Gk =5
370899073|{AIME & [A/REETIVAE (B ) (081100 [EHIRIESTHE 71" XSRS 343[583.51|2H%! mE =

371097430 SEMS  [MA/RETIAE (EiE) (081100 [EHIRIFS5TIE AXDHARG A 339[571.25|2F% e =%
370285361 |2 IB/RETIAS (BE) (081100 [E4IRIFETE AX DR 344] 567.5|284 mE =

214599559 | @1 IB/RETICE (EE) (081100  [IEFIRIZS5THE AXDHRSE 351|563.78|£H# i =%
371099366 | RS |WB/RETIAZ (EiE) (081200  [IHENIEEFSEA | AXOHRLHE 364] 543[2HH mE =

321188122[3kF  [B/RETWAZ (EiE) [081200 [HEHEZFEEAR [FROWRAHE 370| 5425|284 |##E =%
371098558|XIE4%  |M/RETIAZE (EE) (081400 | EARTIE AXDIHRAE 386| 585|2H4 Gk =
371099887[(XFE  [R/RETI A (EE) 081400 |EATIE AXDHARGE 365| 559.5|2H% ik =
411994526 |Z5E IB/RETIAE (BE) [081700  [(HWZFTRESHEA AXDHAREH 338[517.83|2H% g —_=
371096803 |FFAAY  |M/RETIVAZ (B ) (081700 [(WFTFESHEA AXDHARGE 331|489.91|2H4%| |[##E ==
371004628 LEF  [MA/RETIKE (EiE) (082400  [ARARSEFIE AX D AR5 415 653.5|2H% mE —_=
371093650 |FHBH ¥ |M/RETIVAZ (B ) (082400 [MARASIEIETIRE AXDHARGE 369 626|2H% |[#E ==
322190684|EEE  [IA/RETIKE (EiE) (082400 [MEARSEFIE AX D AR5 374] 596|2HH mE —_=
371096383|5k4EH  [MA/RETIAE (EiE) [082400 (MEARSEFIIE AXDHARGE 341| 584.5|2H4%] |%#E ==
371095184|kiBHE  [MA/RETIKE (B ) (082400  [AEARSEFIRE AX D AR5 348| 566.5|2H4 mE —_=
220783621 | 258H I&/RETIAS (FE) 082400 |MARRSEETIE AXDHRRGE 350| 561.5|2H4%] |[%##E ==
3710934207335  [WE/RIETIAS (i) 1082400 [MERHSEFIRE  [ARDHRGM 330| 558|£H#H  |&ZE —_=
230198638 1Rl IB/RETIAE (EE) [082400  [MEARSEETIRE ARG E 342| 594 5|2H4%] |%##E =%
230199717 [F@{EH  |MA/RETIAZ (EiE) (082400 (MBS EFIIE AX D AR5 355| 592.5|2H4 nE =

140208343[HEBRAN  [WA/RETIVAZ (E:E) (082400 |AERASEFIRE ARG E 366 577|2H% |F#E =%
371098173|E@JKEE  [MA/RETIAE (EiE) (082400  [MAARSEFIRE AXBDHREE 357 s577|28% rE ==
231198107[3BfEN  [MA/RETIAE (EiE) [082400 (MEARSEFIRE AXD ARG 360| 575.5[=H gk _%
321598557 | F & B/RETI A (FE ) (082400  |RRRSEETE AXDHRGH 343| 573.5|2H% g ==
441197677 |58 IB/RETIAE (EE) [082400  [MEARSEETIRE AX DR E 345 573[2HH mE _%
321199800(ZFiK  [MA/RETIAE (EiE) (082400 [MAARSEFIIE AXDHAREH 361| 571.5[2H% [F*E =%
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411397184 |XUBEEN  |M/REETMIRE (ELE ) (082400  |RARHSIEFIRE AXDHREE 368| 571.5|2H% |FE =%
230197628| 2K I/RETWAS (FE) [082400  [MRIESEETE AXDHRGH 348| 564.5|2H% mE =%
230199617| S LiE  |W/RETIAZ (EiE) [082400  [ARfASEFIIE AXSHREE 375| 562.5|2B% g =%
44169514178 [raRET WA (B8 ) (082400 [MEfASEXTIR [ AXHOWHRAM 368| 562.5|=H# &= =%
340598540 |ifsfrae  |W/RETIAZ (EiE) [082400  [ARASEFIIE AXDHRLEE 365 s561[2BF mE =%
321199588|B®ERl [W/RETWAZ (EiE) [082400 [MEAEEEIRE [ FROWRAME 364| 560.6|=H%| |#E =%
371097678 |5K{Azn  |W/RETIAZ (B ) [082400  [ARASEFIIE AX PR E 341| 556|284 |[gE =%
321188381 [HEE |W/RETWAZ (EiE) [082400 [MAEEEIRE [ FROWRAME 348| s554|2H4  |#E =%
130491045[5KERER  |M/RETIAZ (B ) 082400  |ARRRSIEFTIIE AX AR5 A 377] 5518|284 FE =%
3707982733 [m/RETIAS (&5 ) 082400 [MEESEITE  [AROHERAR 360| 541.6|=H# |&=E =%
370185216 |3KiBIE  |W/RETIAS (EiE) [082400  [ARASEFIIE AXDHRLEE 335] 540.7[284 i =%
410296138/[5KIM IBRETIAE (EE ) (082400  |AERSEFETIE AXDHARG A 346| 540.6|2B% i =%
420492445 |#9iRE  [M/RETIRE (B ) (082400  [MEMRSEFIAE AXDHAREH 363| 540.2[28H mE =%
421298272 |XUBER  |MA/RET S (ERE ) (085201  [HUMTAE AX SRR GE 338|569.35|£H%| |#E ==
230197200|4 218 IBRETIAE (BE ) (085201 |HUTAE AXDHAREH 335| 587.3|&H# mE =%
610799955 | FkitE I8/RETIAS (FEg) 085201 |HUMTAE AX SRR GE 338| 574.1|2H4%| |[#= =%
341296534|FLiBIE  [MA/RET RS (EE ) 085201  |HUMLAE AXDHAREH 353|569.25| 2 H4l mE =%
621299565 |5KaEr  |M/RETWAS (EE) (085201  |[HMTIE AXDHRSE 333| 568.2[2F% e =%
232599657 [N\ IBRETIAE (BE ) (085201 |HUTAE AX DR 342| 566.9|2H% mE =%
620992322 R [a/RiET WA (EiE ) (085201  [#HUTAE AXDHARGE 336| 566.6|2H% |[#E =%
214097734[5K8F  [MA/RET MRS (EiE ) (085201 WU LAE AXDHAREME 339| 563.9|2H4 mE =%
140597188| FH#R |W/RETWAS (FE) [085201 [ TIRE AXDHARGE 335 s63[2HF Vi =%
110599812 |INFERE  |MA/RETIAS (EifE) [085201  [HUA TR AXSHRLEE 342| 562.4|284 g =%
132199150(XIVE  |MA/RETAS: (EiS) 085201  |HUM AR AXDHFRLEE 335| 562.3|2H4%] |[%#E =%
152395699 | RIX IBRETIAE (BEE ) (085201 |HUTAE AXDHAREH 335] 552.2[284 g =%
371095629 |3K{H IA/RETI A (EE ) (085201  |HUMIAE AXD ARG 335| 549.5|£HH i =%
140595025 |ZREREE IBRETIAE (BEE ) (085204 |#ARITAE AXDHRSEA 396 633|&H# g —_=
371097462|EE5esr [MA/RETIAS (BE ) 085204  |#4EITiE AXDHREE 403 612|2H% = ==
140298252| & LEF  |M/RETIKE (EiE) [085204  [#MRITHE AXDHAREH 357| 582.4|28% T —_=
371094954\ AR [ia/RETWAE (EiE) [085204  [#RITHE AX DR E 371] 581.3[2F% ik =
340597067 |#AkRRY  |M/RETIAZS (BN ) (085204  [#MRITHE AXOHFELR 375| 580.7[£H% |&E —=
371099427 | [MA/RETIAE (B ) (085204  [#RITHE AXDHRREE 384| 578.7|2H% = ==
371098428| B RS  |K/RETIAZ (EiE) (085204  [#MRITEE AXOHFELR 365| 574.9[£H% |&E —=
131494435 [5K18 IA/RETKE (B ) (085204 [#RITRE AXDHRREE 360| 574.3|2H% = =
371096767 1EEE  |I/RETIWAZ (BiE) (085204  [MRITEE AXOHFELR 377| 569.3[£H% |&E —_%
220499997 (ZEER  [IA/RETIAE (B ) (085204  [#RITHE AXD ARG A 346 569|2H% = =
321298605 |3,  [ma/RETI A (EiE ) 085204  [#AEI T2 AX AR5 363| 562.6|=H% [%E —_=
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321294322 5K IA/RETIKE (B ) (085204 [#MRITRE AXDHREE 370| 559.6|2H% |FE —_=
340297871512 IBRETIVAE (EE) (085204  |#ARITHE AXDHRSE 361|547.38|2F% G -
371095958| 2N |K/RETIWAS (EE) (085204  |#RITiE AX AR5 343| 545.7|2H#4l ik —=
321295361 |ZFRR  |B/RETIAS (EiE) (085204  [#RITEE AXDHRGE 349| 543|2H4% |#E ==
371097185 FFIE IA/RETIAE (B ) (085204 [#RITRE AXDHAREH 346 532[28% mE =
411395080 |4pEM  [IA/RET AR (EiE ) (085204  [#KI T2 AX SRS E 341| 529.5|2H4] |#E ==
230199912 | F&HZ=  [BB/RETIAS (EE ) 085204  |#EITiE AX AR5 A 373| 598.9|2£H4 gk ==
371094632[3KiZ)i8)  [&/RET A (B ) (085204  [#FITHE AXDHREE 376| 581.1|£H% [4%E =%
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230197811|f\EE IA/RETAAS GRYI) (083000 | MMERIFSTEE AXOHFELR 366(667.35|=H%  [FF —F
440298418 |faJ§%iE  |B/REETARZ (GRYI1) |083000  |MMERIFSTIE AXDHREE 400| 659.7|=B% |5®E =
230196508|&HHF  |MA/RETAZ GRYI) |083000 [MERIFSTIE AXDHAREH 369| 659.2|£B%! FE —_=
230694832|F N |W/RETIAZ GRYI) 083000  [FMERIFSTIE AXDHFREE 390 657|284 |[gE =
370993354 (XIEFEE  |MA/RETAZ GRYI) |083000  [MERIFSTIE AXDHAREH 381| 655.6|2H0% mE —_=
422197739|KEREE  [B/REETRE GRYI) (083000  [MERIFSTIIE AXDHFREE 403 654|2B% |&mE =5
230198192 FXfE  [|MA/RETIAZ GRYI) |083000 [MERIFSTIE AXSHREH 383[652.95| 2 H%! G ==
422695378|SEEE  |B/RETAARE (GRYI1) (083000  |MMNERIFSTIE AXDHFREE 341| 605.2|2BH% |&E s =5
375698734[FMTE  [MA/RETIAE GRYI) (083300 [ HLkl= AX DRI 378|576.88|=H 4 T —&
220398235 |38EAN  |B/RETIAS (GFYI) (083300  [HEZHIXIZ AXDHAFRLEE 371|571.45|2B%] |%%E =
220688910\ FBE  [MA/RETAE (GRYI) (083300  [IZ ALK AXDHFREE 353|562.05|£H% |[%E =%
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120696811 |1E4] IB/RETIAZ GFYIl) |085100 |FEERF AXOHFEE 357| 551.7|&H4%] |[%E —=
230198402|Z=/N\dF  |M/RETWAZE (GRYI) (085100 |ERF AXDHRSE 346| 547|2\H0% G —F
210297893| FEE=  |K/RETIAZE (GRYI) [085100 [ERE AX AR5 330] 535.8[20% gk —&
345993890 |EXFEE  |m/RiETIAZ: (GFYI) (085100  [EHREF AXDHFREE 336| 533.8|2B% |&E ==
230197235(XIE8E  [&/RETIAE GRYI) (085100 [N AXDHAREH 332| 530.2[28H i —_=
230199219| B |K/RETWAZ (GFYI) (085100 [EHREF AXDHFREE 330| 526.1{=B% |&%E ==
230198002 F&& IA/RETIW A (R (085100  [@5RE AX AR5 A 342[ 537.7[2B% g =%
210199772| =5 IE/RIET A GRYI) (085201 [#HIMTHE AX DA 389| 686.8|=H# |&HE —=
230199778| R IB/RETIAZ GFYIl) (085201 |HIMTAE AXDHRLEE 383| 661.7|&=H%] |[F#E —%
321692323 |XIEE B/RETI A GRYI) 1085201 |HUR T2 AXDHRSE 382| 651.5|2F% G —F
371099166 |1EFHE  |BRETIWAZ GRYI) (085201  [HUMIEE AXDHRLEE 361] 647.8|2B%H |%E —%
351098793|RE IB/RETIAZ GRYI) (085201 |HUMTAE AXDHFREE 359 e645|2H% |[#E —%
371097650| k& [A/RET RS GRYI) (085201 [HUTAE AXDHFRLE 366] 639|2HF [FE —%
371096308[XIERE  [ME/RET A GRYI) 085201 ML LTAE AXDHARG A 361 634[=FF = —%
431099293| 384T0t [r&/RiETAbAZ (GRYI) 085201 WM LAZ AX DR 345 631|2B% i —ZF
370987726 | #M\ 6 MBRETIAE (FFYI) 1085201  |HU T2 AXDHARG A 371 627|&B% i —F
230198682[5KiEER  [ma/RET A GRYIl) 085201  [HUWTAE AX PR E 334| 616.8|2F% mE —ZF
441694957 |[AREH,  |MA/REETMIRE GRII) (085201 [ TAE AXDHARG A 339 614.7|2B% = ==
232599461 [EEMBEE  [ra/RiETAE GREYIl) (085201 MU TR AXDHFEE 346| 613.8|2H% |#%E =
210199837 | 2= IB/RETIE GRYI) (085201 [HMTAE AXD ARG 338| 610.4|2H% = ==
210198362 [5KERZR  [MA/RiET MR (GFYI) 085201  |HUMLAE AXDHAREME 362| 609.5|2H4 mE —_=
371094319 XE  [ia/RETWAE GFYI) (085201  [HUMTAE AXD ARG 355| 6072|285 = —_%
371093310[XI{E IBRETIRE GRYI) (085201 |HUTAE AXDHAREH 355/602.55|2H %! g —_=
420599954 | EE BRETIAZ (GRYI) (085201 |HM T2 AXDRFRSE 336| 602.5|2H4 e =
441199131 |#Fi8 iaRET A GRYl) (085201 [HUTAE AXSHRLEE 331| 595.8|2H% mE —_=
321296609 &EE  [MEA/RETAS GRYI) 085201  [HUMLTAE AXDHREE 333 595|2H% = ==
371099030 FHTF  [MA/RET A (GFYI) 085201  |HIMLiE AXDHAREH 344] 5922|284 g —_=
321193640 F5FE  [a/RETAS GRYI) 085201  [HUMLTAE AXD ARG 337| 589.5|28% E ==
371592155 | XIJEH BRETI A (GRYI) (085201 |HIM TR AXDIHRAE 332|588.85|2HE! g ==F
441693937|%iF T [MB/RETIAE GFYIl) (085201 (MU TAE AXDHRREE 334 577.9|28% mE =5
345999373 | fFZR IA/RETIAE GRYI) (085201 |HIMTAE AXOHFELR 347| 563.2(£H% |&E =%
351293655(XUBRIK  [MA/RETLAE GRYI) (085201 [HUMTAE AXDHRREE 332 560.7|28% mE =5
230198905 iHIRE  [MA/RET MRS (GFRYI) |085202  |HFTiE AXDHAREME 387 629|=2H% gk —F
230197135[FNVKF  [IA/RETILAE GRYI) (085202 [Ye=TiHE AXDHRREE 394| 623.5|2H% = —%
371093135|#AJkE  [WARETIAE CGRYI) 085202 [YeZ T2 AX DA 352| 600.5|2H# |&E —_%
321295847 (XUIZF  [MA/RETIAE GRYI) (085202 [Ye=THE AXDHRREE 375| 580.5|2H% mE =

460395189 |FBZHE  [IA/RETAZ (GRYI) |085204  [#EITHE HEESHE 369| 586|2HE |HE —=

%84 T, L9311




w45 k4 e 44 R RHHY “RLA R W 5¢ 77 n) widan| SRS 235 BXAX ] &F | ¥o¥se

210197685 [[FRiEIE  [MA/RETALAZE GRYI) 1085204  |[MELTRE = 379| 602.3|2HH% [F= —F
310697371[FE  |MA/RET IS GRYI) (085204 [#4RLTHE MRE 371| 559.9|2H#  |%&%E —=
230198411 B\ H|  [ra/RETIAS GRYI) 085204  [#AEITHE R 376| 571.3|2H% E —=
360499447 | BN |M/RETIAS (iFYI) (085204  |#ARITiE Rl 348| 537.1|&B4% G =%
230194770(F530f7  [a/RiET A GRYIl) (085204 [#ARITAE MEINT T2 412 e67|2B% Ve —%
230195393| ZEE  |KB/RETIAS (iFY) (085204  |#REITiE MRIIT T2 419] 658.3|=R%! Gk —=
230195360|ERAIE  |MA/RETIAE (GRYll) (085204  |#4RLTiE RPN T T2 401 e654|2H% FE —ZF
2301979585k Bt [Ma/RiET ML RS (GRYI) |085204  |RAEITAE MEINTTIE 397] 653.1[28% Ik —&=
230196111 | FSE  |KB/RETIAE (GRYIl) (085204  |#4RLTiE RPN T T2 414] 647.7|2R% Gied —F
230199405 #\J BRETWAZ GRYI) (085204 [#HRITEE MR TAE 389| 613.3[£H% |F=E —Z=
371096342|5KHRE  |MA/RETIAE (GRYIl) (085204  |#4RLTiE RPN T T2 406 611(2H% Gied —F
371097131|F5F  [R/RETIAS GRYI) 085204  |REITiE MEINT T2 380 603.3[=H% gE —%
214099059 =7 IBRETIRE GRYI) (085204 |#4RITAE RPN T T2 387(598.75|& B! FE —F
230196485 |8Fams  |M/RETIAS (iFYl) (085204  |#ARITiE MEINT TE 379] 595.7|28% ik —&
613696361 [3BJkFE  [MA/RiET MRS (GFYI) 085204  |#AELTEE MEINT T2 368 589|2H% g —=
230198123[[F¥E  [R/RETAS GRYI) 085204  [REITiE RN TIE 333[587.75| 2B = —%
220778035 FE I IBRETIRE GRYI) (085204 |#ARLTAE RPN T T2 382(584.25|&H4#! FE —ZF
613699620[[f5 5 [MA/RETA A GRYI) 085204  [#AEITHE PRI TR 363] 574|28% Ik —=%
441698744 |{HmAR  |MB/RETE GRYI) (085204  [#RITHE MEINTTE 369| 571.5|2H% i —%
2301970243 E  |K/RETIWAS (GFYI) (085204  |#ARITiE MRINT T2 362|566.75|2 Bl GFE —F
371096332 [{RETHT IBRETIRE GRYI) (085204 |#ARITAE RPN T T 401| 588|£H4 g —_F
230199132|HFgMA  [MA/REETILAE GRYI) (085204  [#4RITHE RN TIE 380| 587.6|2H% = ==
371098166 5EE IBRETIRE GRYI) (085204 |#ARITAE RPN T T2 403| 587.4|2H#%! g —_F
321298696 FEA  |M/RETIAZS (iFYI) (085204  |#ARITiE RIDT T2 361| 585.7|2H% e —=
140299704 | FEREE IBRETIRE GRYI) (085204 |#ARITAE RPN T T2 364| 583.7|&H#! g —_F
340595398 |5 IRETWAE GRYI) (085204  |#4KITHE RPN T TR 370 583|£H# ik =
142396392 | 5K 5, IBRETIRE GRYI) (085204 |#ARLTAE RPN T T 371| 575.3|&B#! g —_F
371093097 |ZBKIE BRETA A (GRYI) 1085204 (MR T2 RPN T TR 390| 573.7|2B% Gk =%
210995111 | F Kt IBRETICE GRYI) (085204 |#4RLTAE RN THE 352| 566.9|&H# g —_F
210499154 | FARR IB/RETI A (GRYI) 1085204  |#4RL T2 PENITZTE 354| 565|£HF i —_=
310695817 [XIJ & IB/RETIE GRII) (085204 [#RITRE MENITTE 368| 563.7[28% FE —_=
214698318|FRE  [IA/RETIAE GRYI) (085204  [#RITHE RIDIT T2 368[562.25| £ H% gk ==
431586661 | EfinH IBRETIRE GRYI) (085204 |#4RITAE RN THE 367|553.25|& B! g —_F
321996950 }EBAT BRETIWAZS (R ) 1085204  [#4R T2 PENITZTE 338|546.75|£B%! rke i
210898305 |;EfEaE  |[M/RiETAAZE (GRYI) 1085204  [#ARI T2 RN TAE 334|537.75|2 8% g —_F
345999329|ZFEE |/RETIASE (GRYI) (085204  |#ARITAE RPN T TR 364|581.37|2 0% ke =

371098673 |FNEM  |B/REETIAZ: GRYI) (085204  [#RITEE MENIT TE 354| 561.3[£RH% |&E =%
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500197356 (|EFH IA/RETIE GRII) (085204 [#RITRE MRIIT TR 333| 555.3|2HE |%E =%
220794520 | &8 eI AE GRYI) (085204  |#4KI T2 MRIIT T2 344] 553.3[284% Gk =%
370682577 | F &) BRETIRE GRYI) (085204 |#ARITAE VENIT T 343(532.75|2 B4l G =%
422596126 | 25 IBRET A (GRYI) (085204  |#4RITHE MEINTTIE 331| 5285|284 gE =%
341199367 [5HFiR BRETIRE GRYI) (085204 |#ARITAE VRN TE 336|521.75|£H#H GFE =F
501397755 [BE0Mk  [M&/RiET MRS (GRYI) 085204  |RAEITAE MEINTTIE 341 s20l2B% e =%
441698902 | FERER IB/RETI A (GRYI) (085206  |mTFE AXDHAREH 369| 600.5|2H% FE —%
342598135 F 15 |KB/RETWAZE GRYI) (085206 |mhTiE AXDHRSE 357 594|£RHE Gigd —F
321796887| F3IH IBRETIAE (GFYI) [085206  |siHTFE AXDHR A 360| 580[&2H% Gied —ZF
431895245 | 228 IB/RETIE GRYI) (085206 (s THE AX SRS E 352| 579|2H4% |#E —%
230198467 | BRE)  [E/RETAAZ (iFYIl) 085206  |mIFITEE AXDHRLEE 357 s578[28H g —ZF
321797098 F1& IB/RETIAZ GFRYI) 085206 |shHTHE AXDHARGE 377| 5755|284 |%#E —%
340171913[ERFMIn  [MA/RiET MRS (GFYI) (085206 |1 TEE AXDHAREH 346| 573.5|2H% mE —ZF
340695192t FFL  [MA/RETIAE GRYI) (085206 (s THE AXDHARG A Y B EYEE = ==
321696838|[EH IBRETIRE GRYI) (085206 |m T HE AXDHAREH 364| 547.5|284 FE —_F
130692271 |FHE IB/RET I (RYI) (085206  |sh T HE AXDHARG A 356] 541.5|2F% e ==
150292907 |#MEE  [M/RETIAZE GRYI) 1085206  |miTFE AX DR 357| 540|284 mE =
422896575 dim  [RA/RIETW A GRYI) [085206  [zh TR AXDHRSE 335| 536.5|2 A% Cigd —_%
430699438|E|IRE  [&/RET A (iRYIl) 085206  |mIFTHE AXDHRREME 330| 534.5|284 mE —_=
230198356 |MAERR  |K/RETWAS GRYI) (085206  |mh T8 AXDRFRSE 360 528|2H% e ==
321187659 [#KIE IBRETIRE GRYI) (085206 |mHTHE AXDHAREH 327| 515.5|2H# g =F
441698756 |iIEIRE  [MA/RETIAE (GaYll) (085206  [zhhTHE AXDHFRLEE 331| 515.5|2H4%] |[%##E =5
230199089 ;&F s IBRETIRE GRYI) (085207 |BBSTHE AXDHAREH 408|670.74| 2% g —%
441698311 BMEE  [la/RETI A GRYI) 085207  [BBFTIE AXD ARG 379| 619.3[2H% GFE —F
220687083 | E kIR IBRETIRE GRYI) (085207 |BBSTHE AXDHAREH 360]612.77|&H#! g —%
230198555[HAkE  [MA/RETILAE GRYI) (085207 [EBSTHE AXD ARG 355(612.63| 2 H% = —%
431696836| 55K IBRETIRE GRYI) (085207 |BBSTHE AXDHAREH 363|607.37|2H# g —_F
514199583 |ZR it B/RETIAZE GRYI) (085207 | TR AXDRFRSE 363|605.63[&HH g =
130394987 |FENI  |MRETIKRZ (GRYI) [085207  [BSTIRE AXDHAREH 363[599.67| 2B gmE —_=
360792412(XIiBEE  [MA/RETILRE GRYI) (085207 [EBSTHE AXDHRREE 363[597.36| 2 H% = ==
230198880 R [MA/RETIAE GRYI) (085207  [EBSTHE AXDHAREH 351| 579.3[28% mE =%
230197540| FRS Ia/RETWAE (GRil) (085207 [BBSTHE AXD ARG 358[579.03[2H%! = ==
231199816(XIKIR  |ME/RETAZ (GRYI) |085208  |[BFSEEIRE AXSHREH 408| 690.4|28% rE —&
230197968 | FEiE i/RETIWAE GRil) (085208  [BBFS5EETE AXDHRREE 406 689|2H% = —%
371097855[XBEE  |MA/RETMAZ: (GRYI) |085208  [EBFSEEIRE AXDHAREME 422| 679.1[28% T —&
371097455| F3E IB/RETIAS (Rl ) |085208 |BBFSEE1IE AXD ARG A 381 679|=HF i —F
321101883|MHEH  [MA/REETIAE GRYI) (085208  [BBFSEEIE AXDHAREH 402| 676.1|2H% |&H®E —F
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411491654 |EBEM,  |B/RETARZE (GRYI) |085208  |BBFSEEIRE AXDHREE 389| 673.4|2H% |FE —F
371095915|EFfE  |MA/RETAZ (GRYI) |085208  |[BFSEETRE AXDHRGH 388| 666.9|=H%! e —%
230198266 ®EAn  [IARETIAZ (RYl) (085208 [BFEEETRE |[FROWHRAH 378] 663[2BH |sHE —F
371099175[5KEZR  [MA/REETIAE GRYI) (085208  [BBFSEEIE AXDHARG A 407| 657.8|20% e —%
230199254| F4ENI  |B/RETIAZ GRYI) 085208  [BBFSBIEIIE AXDHRLEE 385| 657.3|2H4%] |[#E —ZF
371093596 | fE= iaRETWAS GRYl) (085208 [BFS@ETE [ AROHRAM 382| 655.5|2H4%] |#E —%
230199390[fXEXN  [&/RiET A GRYIl) (085208  [BBFSiBEIIE AXDHRLEE 361| 650.9|2HH i —_=
345999170(Hif IB/RETI A GRYI) (085208 [BFSBEIRE | AXOWRAH 375[ 646.9|=HE  |FE —%
371094104 |F=FF  |B/RETIAZ GRYI) 085208  [BBFSBEIIE AXDHAREH 385| 646.4|2HH FE —_=
371094359 (R BR  |MA/RiETMLAZ (GRYI) |085208 |BBFSEETIE AXDHARGH 391| 6424|225 G ==
371092429 EhHHk I/RETI RS (R (085208  [BBFSEBETE AX PR E 360| 637.5|284 ik =
371799022 X iaRETWAS GRl) (085208 [BFS@ETE [ AROHRSM 352| 637.4|2H4%] |#E ==
230199222 |=fEE  |MA/RETMKZ GRYI) |085208  [BFSEEIRE AXSHRLEE 356] 634.9|2HH FE =
4114962043800  [WB/RETWAZ (GRH) [085208 [BFEBEIRE [ FROWRAE 381| 634.3|2H4| |[#E ==
321187533|[FHEfE  [IA/RETIKE GRYI) (085208  [BBFSiEEIRE AXDHRREME 358] 629.4|2H4 i —_=
441698356 RIBFE  [WB/RETWAZ (GR) [085208 [BFEBEIRE [ FROWRAE 350| 628.9|2H%| |[#E ==
420495712|XUBREE  |M/REET MK (GRYI) (085208  |HFSBEIRE AXDHAREH 383| 626.7[28H mE =%
441698885 |22 |K/RETAKZE (GRYI) (085208  |BFSBEIRE AXDHARG A 376| 626.1[=H% mE =5
371099042|2F=F  [IA/RETIAE GRYI) (085208  [BBFSEEIRE AXSHRLEE 366| 625.5|2H% mE =%
230199375(XI+H  [MA/RETIAE GRYI) (085208  [BFSiEEIE AXD ARG 374 623.5|28% mE =5
230198797 [3KEEF  |ma/RETIAE GRYI) |085208  [BEFSBEIR | FAROHRAE 353 623|2H#  |F#E ==
230197565| 5518 I8/RETIAZE GFYI) 085209  |SERKEEIR T2 AXDHFRLEE 389 618|2H% |[#E —%
371094984 [ffifmiE  |MA/RETAAZ GRYI) (085209  |SERkEEIE THE AXDHAREME 380 603[2H% mE —F
230199273|5KIHER IARET A (7RYI) (085209  |SERKFBEE T2 AXD ARG 347| 580|&=HH i —F
230195407 | Bk I/RETIE GRYI) [085209 [SERRFBRETHE AXDHAREME 384 s578|2B% mE —_=
230199445[FB3GL  [ME/RiET LA (GRYI) (085209  |EERKEBEE THE AXD ARG 360 570|2H% = ==
220778931 {4 fE IBRETIAE (GRYI) (085209 | SERKFBIS T2 AXDHRSEA 355 567(&H# Bid —_=
371093124|ZH IB/RETIAE GRYI) [085209 [EERRFBRETHE AXD ARG 378] s44|2B% mE =5
230198163|#EMEF  |M/RETIAS (iFYI) (085210  |EHITIE AXDHAREH 429|714.12|2 8% G —&
230198694|;&lzds  [ra/RiET W AE GFRYI) (085210  [E=HITHE AXD ARG 414|712.37[2B% gE —&
430499879|FFiKiE  [MA/RIET LA (GRYIl) (085210  |=HITHE AXDHAREME 406(707.47|2B% T —&
210392602| A% |K/RETWAZ (FYl) (085210  [i=HITiE AXOHFEE 384| 695.8|2H%I |##E —%
4201983245 E  [M/RETIAZ (RI) (085210 [T AX DA 421|665.37|2H%  |&®E —&
420899357 |Z(EMFE  [M/RETIAE GFYI) (085210  [E=HITHE AXD ARG 387[648.09|2B% gE —&
441692853 |5KEK  |M/REET RS (GRII) (085210  [#=4ITHE AXOHFELR 380(634.95[2H#%I  [F* —%
321194548 ZWhiE  [ra/RiET WA GRYI) (085210  [E=HITHE AX DR E 378(633.34|2F% gE —&
230199928 F & IB/RETIAZ GRYI) (085210  |#=HITHE AXBDHRGE 392|624.52(£HE  |%HE ==
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321173703| FEAIE  |M/RETIAS (GRYII) (085210  |EHITiE AX DR A 389|622.44|2HE  |%E —=
230198344| & Ia/RETIAZ GRYI) (085210  [#=HITHE AX DA 388/621.73|2B% |&E —_=
370990939 [RIBR  [ra/RiET A (iFYIl) 085210  |#=HITIE AX AR5 355(618.23[2BF % g —_=
130392682 [fF4EsR  [WA/RETIAZE GRYI) (085210  |#=HITiE AXDHARG A 374|610.12|2B% e ==
230198284ty |MA/RETICAE (GRYIl) (085210  |fEHTiE AXDHAREH 352| 608.5|2H4 GFE =
422899474 {4k Ia/RETIAE GRYIl) (085210  [=HITHE AX SRS E 362| 606.5|2H%| |[#E ==
230199123 |Z55AFH IA/RETI S (GRYI) (085210 |4 THE AXDHR A 364|597.73|2 B4 FE —_=
371099138 |BXW  |K/RETIAZ (GRII) (085210 [l THE AX DA 360|590.63[£H%  |%Hh¥E =%
210899578| Fh%lZ  |MA/RETIAE (GRYll) (085210  |fEH|TiE AXDHAREH 330[567.44|2B# FE ==
371093263| HFERE  [MA/REETLAE GRYI) (085210  [#EHITHE AX DA 349(565.37|=H#  |&E =%
371095029|FE3IA  |MA/RETIAE (GRYll) (085210  |fEHTiE AXDHAREH 333|565.25|2H#l FE ==
371097784 FEZIH  [ME/RETAAZ GRYI) (085211 [iTEHIEIA AXDHRREE 406| 667|204 e —%
514698608 | S8 IB/RETI RS GRYI) 085211 [iHE#HIRA AXDIHRAE 408 638|2R% Gk —%
441697461 |FFMABE  [W/RETAE GRYI) (085211 [itEHEA AXDHRREE 413 635|2B% |&mE —%
230198359|{EERH  [r&/RiET LA GRYIl) (085211 [iHEHIER AXDHRREME 371 634|285 mE —ZF
121698777|EH(ER,  |MRETIAZE GRYI) [085211  [ITENIFIA AXDHRREE 388 633.5|=H% = —%
230198954 |FRfEE  |WB/RETIWAZS GRYI) 085211 [HEHIFEA AXDHFRLE 376] 632[2H% |F#E —%
220782197(FRiFFtE  [Ma/RiET A GRYIl) (085211 [IHEAEIA AXDHREE 415| 630.5|2B4%l |#E —%
371094237| FESE  [IA/RETIE GRYI) (085211 [iTEHER AXSHRLEE 390 630[2F% i —ZF
420297388[3KEF 2 [MA/RiETCAZE (GRYI) |085211  [LHEHIRA AXD ARG 415| 626|&=HH e —F
371099690 [XIFERE  |MA/RETAZ GRYI) (085211 [iTEHIEIA AXDHAREH 421 620.5|2R% g —%
371095134|BE5EE  [M/RETICE GRI) (085211 [itEHIEAR AXDHREE 407 619|2H% = —%
371093210 KFHH  [MA/REETIAE GRI) (085211 [iHEHEIR AXDHFREE 400 617|2B% |&E —ZF
371097505 | [EZ B/RETI A (GRYI) (085211 [iHE#HERA AXD ARG 385| 613.5|2H% GFE —F
345998797 Efin  MA/RETALAZ GRYI) (085211 [iTEHIEIA AXDHAREME 402| e613[2HH mE —&
230196430 |BHE B/RETI A (GRYI) (085211 [iHE#HERA AXDHREE 365| 611[&HH e —%
370298344 |HEF IA/RETIE GRII) (085211 [itEHRA AXDHAREME 384 e04|2B%F mE —&
420499716 [5KHNI  [ra/RiET RS GRYI) |085211  [THEHIRA AXD ARG 392| 603.5|&2H% g —F
440397904185 IBRETICE GRYI) (085211 |iHE#HsA AXDHAREME 398 602[2B% gmE —&
330399025 |BIFRE  |B/RETIAZE GFYI) (085211 [HHEHIFA AXOHFEE 398| 601.5|2H%| |[##E —%
515199139 |fafgE) || |M/RETIAZ GRYI) 085211 [1HEHIFRA AXOHFELR 391| 600.5(£RH% |&E —=
230198723| KRBtk [MA/RiETALAZ (GRYI) (085211  [ITEHIEIA AXDHRREE 382| 599.5|2H% = ==
330195002|#E  [Ma/RETIAE GRYI) (085211 [IHEHELAR AXDHAREME 385[599.25| £ H%l rE —_=
321183101 |FM— |B/RETIAZE GFYI) (085211  [(HEHIFEA AXOHFEE 397| 598|2H% |#E =
441699506 |XUFESA  [M/REETIAE CGRYI) (085211 [itE#HEA AXDHFREE 386| 595.5|£H4| |[#E =
421495281 | Ei& Ia/RETWAE GRil) (085211 [iHEHEA AXDHRREE 388| 594.5|2H% = =
515199141 |BREF  [WB/RETIAZE GRYI) (085211 [iHEHIFEIA AX DR 430| 593.5|2H% (4% —%
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230196599|FEE  [MA/RETILAE GRII) (085211 [iTEHIEAR AXDHREE 386| 593|£HE |FE —_=
500798107 [fRz=EB  [WA/RETIAZ GRYI) (085211 [iTEHIEIA AXDHRREE 394] 592[2FH e ==
512297660 [XBA IB/RETIW RS GRYI) (085211 [iHE#FRA AXSHREE 398| 591.5[2F% g —_=
210298851 |8AEEE  [ra/RiETALACE G (085211 [IHEAEAR AXDHFREE 380 589|&£H% |#E ==
360296659 [EIFEY  [Ma/RiET AR (GRYIl) |085211  [IHEHIFIA AXDHRLEE 374] 589|2HH i ==
370296319| X8 ia/RETWAE GRl) (085211 [{HEHEA AXDHREE 399 s589|£BH#H [gE ==
310698597 [5K/NEE  [MA/RIEETMLAE GRYIl) (085211 [iHEHIER AXDHRLEE 377| 588.5|2H4 mE —_=
370288882 | XIJER BRETI A GRYI) 085211 [IHEHIFA AXDHARGH 369| 588|2HE Gigd —_=%
513997921 [#FRZE  [MA/RET A (GRYI) (085211  [IHEHIFIA AXDHRLEE 368| 587.5|2H4 mE =
432497832|BVEF  |M/RETACE (GRYI) (085211 [HHEAEIAR AXDHFREE 398| 587|2H4% |#E ==
441698851 |MuFIE  [IA/REETIAE (GRYI1) 085211 |[IHEHUIRA AXDHRLEE 389 585[&£H% i ==
371093071 |3CiA] i/RETIAE Gl [085211  [iHEHEAR AXDHFREE 379| 581.5|2H4%| |#E ==
121098562 | FMBIE  |K/RETIAZS GRYI) [085211  [IHEHIFEA AXDHAREH 369] s579|2HH FE =%
321697854[5KAHEK  [MA/RiETALAZ (GRYI) (085211 [iTEHIEIA AXDHARG A 392| 577.5|28% e =%
450699121 |BRIMIR  |M/RETMlRE (GRdIl) (085211 [iHEHIER AXDHRREME 399| 576.5|2H4 mE =%
371093981 [FME  [A/RET RS (GRYI) (085211 [ITEHIEIA AXDHRREE 379|576.25|2F% = =%
230199272| FiiE  [MA/RETCE GRYIl) (085211 [iHEHER AXDHRREME 366| 574.5|284 mE =%
211899455 | XP5% i/RETIAE Gl [085211  [iHEHEAR AXDHFREE 367| 5745|284 |#E =%
340178494 [1F3fE  |MA/RETALAZ GRYI) (085211 [IHEHIEIA AXDHAREH 364| 5745|284 mE =%
321790307 REFz,  [MA/RETAAZE (GRYI) (085211 [iTEHIEIA AXDHREE 396| 573.5|2H% mE =5
370286842 | =B  [MA/RIETALAS CGRYI) 1085211 [iHEHIFA AXDHRL M 392| 573.5|2H#  |&E =%
441196454 |53 I/RETIAE GRYI) (085211 [IHEHFA IBWHERRERESE 373| 549.5|3E=HE [F*E TIEE
342507277 FHE  |MA/RETIAZ GRYI) |085213 [BRSEATIE AXSHRLEE 376] 662|2B% mE —&
371097797[{B% IB/RETIE GRII) (085213 [BIRSEATIE AXD ARG 390 656|2H% e —%
330694311 {F—;T  |M/RETIAZ (GRYI) (085213  |ERNSEARTIE AX D AR5 380| 6455|284 g —%
140299396 [#7H IB/RETIE GRII) (085213 [BIRSEATIE AXD ARG 362| 642.9|2H% e —%
321198179(fh T3k |MA/REETMLAZ: GRYI) |085213  [BRSEATIE AXBSHREE 376] 634.5|284 mE —&
441696295| X85 |B/RETIAE (FYI) |085213  [FBRSETATIE AXDHRRGE 384| 630|2H% |[#E —%
420499009|EBE  [MB/RETIAZE (GRYI) 1085213 NS EARTIE AXDHAREH 393| 629.5|204 gmE —&
131897182 ##{r IB/RETIAE GRIIl) (085213 [BRSEATIE AXOHFEE 386 629|2H% |#E —%
351206614 [/BEEH  |WA/RETIAZ GRYI) |085213  [BRSEEATIE AXDHAREH 382 629|2H% mE —&
340293123 | =Hi IB/RETIRE GRYIl) (085213 |EBRSEATIEE AXDHRREE 373| 626.5|2H% e —%
420599662|1REERY  [MA/RIETLAE (GRYI1) 1085213 FEERNSEARTIE AXSHREH 362| 625|2H% rE —&
370299265 |XIMRAR  |B/RETIAZE GFYI) 085213 [ERELATIE AXOHFEE 395| 619.5|2H%] |[%##E —%
370399167 |FHE  |B/RETIAZ GRYI) 085213 [ERELARTIE AXDHREE 353 617.5|2H% |&#% —_=
441296017 |MGFE  [B/RETIAE (GRYI) |085213  [BRSEATIE AX DR E 348| 613.5|2H%] |%##E =
321592886 | [E4T IBRETIE (GRYI) (085213 |ERNSEATIE AXDHRAE 347| 612.5|2HEl  |%E —_=
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360176757|1RIEE  [IA/REETIAE GRYIl) [085213 [ERSEATIE AXDHREE 372 e612|2HF |FE —_=
430397417 | &Rl IB/RETIAE GRYI) (085213 RS TATIE AX ARG E 349 e612|2H4 |#E ==
351204122| 2R |W/RETIAZ GRII) (085213 [ERELATE | FAXOHREH 369 e611|eB4 |[gE —_=
360599863;FFEE  |M/RETAAZS (iFYl) (085213  |ERSEARTIE AXDHRSE 353| 608.5|2H% Gigd =%
371099123|3KMNE  |K/RETIAZ GRYI) |085213 [ERELARTIE AXDHRLEE 349| 608.5|2H%! mE =
441691927 3K T IBRETIAE (GRYI) (085213 |ERSEATIE AXDHRSE 383| 608|&HH% i —_=%
371094010(ZHitk  [A/REETILAE GRYIl) [085213 [ERSEATIE AX AR5 A 376] 605|284 FE —_=
4308964585k IBRETIAE (GRYI) (085213 |ERSEATIE AXDHRSE 362| 604.5|&H%! i —_=%
441694877 |5BFEEE  |B/REETALRE (GRYI) (085213 [FBRSEAIIE AXDHRLEE 361] 604[2BH i —&
230197029 | FEAE  |B/RETIAZ GFYI) 085213 [ERSELTARTIE AX SRS E 360 601|&2H% |[#E =%
441695956 |5KZ 38 [M/REETIAE CGRYI) (085213 [EINSEARTIE AXDHRLEE 350 s599[2H% i =%
360699101 |{J5= IB/RETIAE GRII) (085213 [BIRSEATIE AXDHARG A 343 595.7|2B% = =%
131498453[XPFHE  [WARETIAZ GRYI) (085213 NS ATIE AXSHRLEE 376| 595.5|2H% mE =%
231198808|EfaiE  |WA/RETIAZ (GRYI) |085213  [BRSELATIE AXDHARG A 344] 595|2F% = =%
431894562 [ZF—If,  |RA/RETIARZE (GRYI) (085213  [BRSELATIE AX DR 373| 593[2HH FE =%
230199695 | 2R IBRETI A (RYI) (085222  |AIEIEH L2 AXDHARG A 359(640.67[2F% GFE =5
371095044 |#NE I/RETIE GRII) [085222 [3iEiEk TR AXSHRLEE 376]634.33[2H4 mE =%
361199050 |fFRER  |W/RETIAZ: (GRII) (085229  [FAETEE AXDHARGE 387| 677.7|2H4%] |#E —%
230197984| Mg [ra/RiET WA GRYIl) (085229  [FREETHE AXDHFRLE 382| 672.5|2H%l |#%E —%
230197993|1&FE  [ma/RETAAS GRYI) |085229  |[FMETIE AXD ARG 398(665.25| £ H%! e —%
614699584| FEHE  |KB/RETWAZS (GRYI) (085229  |FRIETIE AXDHAREH 398(661.95|2H %! g —&
421194531|fFRiF=E  [la/RETI A GRYI) 085229  [FMETIE AXD ARG 401| 660.8|&=HHl e —%
371197220 B&5E  [BA/RETAS (GRYI) (085229  |[FMETFE AXDHAREME 392| 654.5|284 mE —&
371094548|ZFfIFH  |M/RETIAS GRII) (085229  [FAETEE AXDHARGE 367|650.55|2H%| |#E —%
360188246 | EZ=FIfX IBRETIRE GRYI) (085229 |FAETAE AXDHRAE 378| 650.5|&H# g —_F
210899797 | FFHh  [a/RET A GRYI) 085229  |[FMETIE AXD ARG 374] 647.4|2B% ik =
351008733|gIEEE  [MA/RET AR (GFRYI) (085229  |[FMETIE AXDHAREH 375| 646.6|2H4 mE —_=
341298527 [[FEEZ  [/RETIAZS GRYI) 085229  |[FMETIE AXD ARG 378 645|2H% g ==
411693443|KEE  [M/REETIAZE GRYI) (085229  [(FAIETEE AXOHFRGE 379|641.65|2H4%] |[#E —_%
230197146 | ¥7iE IB/RETAE GRYIl) (085220 [(FAETHE AXOHFEE 363|635.95|2H%| |##E ==
111098912174 |M/RETIAS GRYI) (085229  [FAIETIE AXDHAREH 365(628.05| 2 B! mE —_=
130394354 {12 [lA/RETIWAS GRYI) (085229  [FRETIE AXDHRREE 391[643.55| 2 H% mE =5
412199771|XERk  [MA/RETI A (GRYI) 085229  |[FMETFE AXSHREH 368(622.25| 2B % G =%
341299188 FFER  [ra/RETWAZE GFYI) (085229  [FRIETHE AXDHRREE 376(620.85| = H%! mE =5
321476779]/BFX BRETI A GRYI) (085229  |FMETFE AXDHRSE 363[609.55|2H4 g =F
322090946 |28 IB/RETIAZE GRYI) 085300  |3kAik! AXDHFLEE 384| 582.8|2H4%I |##E —%
230198377(XFix  [m&/RiETAE GFYI) [085300  [MALL AXDHRREE 359 561.6|=H% [F* —%
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432198844 |3 & IB/RETIAZE GFYI) 085300 |3kmaik! AXDHFRLE 362|557.95|£H% [F®E —F
230199133|17 & IE/RET RS CGRYI) (085300 |ipkrsAik) AXOHARSE 359| 557.7|2H%I  |%®E —=F
375699027 |EMHE  |KB/RETIAZ GRII) (085300  [Ekrsikl AXDHARE M 362| 556.9(£H% |&xE —%
330180801 |E &I |M/RETIAZ GRYI) (085300 [kl AXOHFRLM 364|556.75|£H%E  |ZE —=
230199249|FEE  [IA/RETIRE GRYI) [085300  [Ikriifikl AXDHFELR 367|556.55| 2Bl mE —_F
230197989 | inT  |M/RETIAZ (GRYI) (085300  [SEkrHaikl AXSHFLM 343[556.45| 2 HEl  |[&mE —Z
230198740(XUEERY  [MA/RETIRE GRYI) [085300  [Ikiiikl AXDHFARSE 365|554.65| = L& |GE —&
230199286 | 5K K= IB/RET S GRYI) (085300 [kl AXDHREE 357| 553.2|&H# GFE —_=
230198134(ZHEFE  [IA/RETIKE GRYI) [085300 [kl AXDHFELR 357 553[2H%  [%F -
210499752| FHiE  |B/RETIAZ GRYI) (085300  [SEkraaikl AXSHFLM 353] 552.1[2H% |&E —&
230198479 | BiE IA/RiETAS (GRYI) 1085300  |ipkmALk! AXOHFELR 357|550.75(2HE  |HE =&
340197130\ KA |K/RETIAZ (GRII) (085300  [HEkraaikl AXOHFREM 360| 5485|284 [%E =%
510297672| L ERE |IB/RETIAZ (GRII) (085300  [HEkmRikl AXDHFRLE 353|541.55(2HE  |HE =&
423298834|3KE% IA/RETIAE G (120200 | THERE I ETESE 430|688.67|=H% |5®E —=
210793556 | EUESREL  [MA/RETIAE CGRYI) |120200  [THEE I EES R 435|679.67|2H% |&=E —%
370198211 |ERFKTE  [MA/RIETAAS CGRIYI) (120200 [THEE I EIES R 403]666.99|=H%  [F#E —=
440798274| 53 [B/RETIAZ GRII) (120200 [TrETE I EESR 408| 646|2HF |F=E =
230199861 (XI—H8  [MA/RETIAE GRYI) (120200  [THEE SRS M 389|639.33|£H%| |[#E —%
411998538 | =R  [M/RETIAZ GRYI) [120200  [TrHEE I EES R 387| 638[2£HE |&hFE =
210198844 | AP K [MA/RETIAZE CGRIYI) 120200 [THEE I EESR 385/634.33[£H%E |%E =5
370685408|5KfREn  [MA/RETIAE GRYI) (120200  [THEE TSRS R 381|624.66|=HEI  [FFE =%
440187558 |#BE IB/RETIAZE G (125200 | NHEE BKERREREE 234] 318.2[FE=BEI [BEE NEE
350186316 [E izl IG/RETAZ GRI) (125200  [AHEE GBERRERELE 209] 299.1[FE£H% [BEE NEE
440195700 |1BIEFIE  [M/REETAZ GRII) [125200  [AHETE BKERREREE 220298 53[FEEBE] [BEE NEE
440198314 |KER  [B/RETWAZ (GRII) [125200  [AHETE SBRKERREREE 211| 298.3[FF=HE |BEE AFEE
440189573 |5KEEF  |MA/REETMIRE GRII) (125200 [AHEE SBWEERERE S 217[293.83[FE2E% [BeE NFE
440198543 [ &[53] IB/RETIAZ GRYI) |125200 | ~HEE SRR ERREREE 220| 293.3[FE£HE |BEE AFEE
440196370 EHFR IA/RIET A GRYIN) 125200  [AHEE BBEERRERELE 214] 292 4[FE£B5I [BEE NEE
440194581 | 4 IA/RETIAE GRYI) (125200 | NHEE SEEWERRERIELE 202[290.83[3FE2HE [BEE NEE
440196803(#F))IIE  [MA/REETIAZE GRYI) 125200  [AHEE (BBERRERELE 204] 290.5[FE£H%I [BEE NEE
440193745[ABiFE  [IA/RETIAZE GRYI) 125200  [AHEE UEERRERIELE 209] 290.5[FE£B% [BEE NEE
440195056 [#AEFR]  [IA/RETAZE GRYI) [125200  [AHEE (BBERRERELE 210] 289.1[FE£ %I [BEE NEE
440194031 [E/INEK  MA/RETIAS CGRYI) 125200 | AHETE GBBIEERERE L 207| 288.2|3ELHFI |BE TEE
440193249 IA/RIET A GRYII) (125200  [AHEE BKEEREREE 202| 287.3[FE=B%] [BEE NEE
440197872 |RUER  |IA/RIETIAS (GRYI) |125200 | AHETH (BRI L 202| 286.7|FF=HH [BEE e
440198263 [XIEF  [IA/RETIAZE GRYI) 125200  [AHEE BBERRERELE 206]285.94[FE£H5I [BEE NEE
440185144 |3K5% E/RETAAS CGRYI) (125200 | AHETH (IBWHEIREREE 194] 282 8|3 F= B [BE EE
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440197151 | 27 IA/RETAE GRIIN) 125200  [AHEE BRKEEREREE 198| 279.5|3ELHFI [BLE NEE
440191195[XBH%EE  BRETIAZE CGRYI) 125200 | AHETE (IBBEERERE L 191|279.33|3E£HH [EkE TFE
440185235 EB3th IE/RETAAS GRIID (125200  [NHETE (IBBIEEREMELE 189| 277.5/3F£HT [BE NEE
450997943|fFES  [MA/RIETIAS GRYI) 125200  [AHEE UBEERRERIELE 192(277.46[FE=HE [BEE NEE
440195717 [ IG/RETI A GRII) 125200  [AHEE GBI ERELE 186] 274 5[FE£B5I [BEE EE
440188598 | {REEE IA/RETIAE GRYI) (125200 | NHEE BWERREREE 187| 274|3E£HE [BE A¥E
460394144 |E R [IA/RETASE GRYI) [125200  [AHEE GBI ERELE 186] 273.2[3F£ B [EcE NTEE
460298364 [XIEG  [IA/RETIAZ GRYI) 125200  [AHEE SEBENERRERIELE 192] 273.1[FF£B%I [BEE AEE
440191437 |FREE  [IA/RETIAZE GRYI) 125200  [AHEE GBI ERELE 186] 271.5[FE£B%I [BEE EE
440196409 [ZHRAE  [IA/RETAZ GRYI) [125200  [AHEE SEBENERRERIELE 185( 271.3[FF=HE [BEE NEE
440190214 |EBH IB/RETIAZE GRYI) |125200 | ~HEE BRKERREREE 185[271.16[3E£ A%l [BEE NEE
440198078|=EKfF  [M/RETAZ (GRII) [125200  [AHETE BWERREREE 179]269.76|3F2BE B NEE
440188475 |;T1¢ IB/RETIAZE GRYI) |125200 | ~HEE SBRKEEREREE 193] 269.5|FF£HF [BcE ¥EE
440184901| 87 IB/RETIAE GRYI) (125200 | ~HEE BKERREREE 180| 267.6|3F2HH [BcE NEE
440196592 3K ¥ IB/RETIAZE GRYI) |125200 | ~HEE SIBWHEERREREE 190| 267.6|3F£HE |BEE FRE
460297042|F /82 [WMRETIAZ GRI) [125200  [AHETE BKERREREE 186| 267.5|3F2HH [BxE NEE
440198789[5K37F  [A/RETIAZ CGRYI) 125200  [AHEE SIBWHEERREREE 190| 267.1|3F£BEI [BLE FRE
460394181 /S5 IE/RETI A GRYI) 125200  [AHEE BBEERRERELE 185 267[IE£HH [BEE RNEE
440190102 |FEFERE  [IARETIAZE GRYI) [125200  [AHEE SIBWHEERREREE 186/265.97|IF£HE |BEE FRE
440196836 |[FEHIM  [A/REETAZ GRYI) [125200  [AHEE EBEERRERELE 189[ 265.9[FF£B%I [BEE NEE
440188956 R [IA/RETIAZE GRYI) 125200  [AHEE GBERRERELE 191] 265.5[F k£ B4 [BEE NEE
440197311 | EF IB/RETIAZE G (125200 | NHEE BKERREREE 191[265.33[FF£HE [EcE NEE
440193262 |15 IA/RETIAE GRYI) (125200 | 2HEE BWERREREE 191[265.27[FF£BE [ExE NEE
440187669 [BFERE  [IA/RETIAZE GRYI) 125200  [AHEE BBERRERELE 183[265.23[FF£B5I [BEE NEE
440196318 |PRIRZ,  [B/RETAZ GRII) [125200  [AHETE SIBWHEERREREE 181]265.16|3F£BE |BEE NEE
440185724 2%k IB/RETIAZE G (125200 | NHEE BKERREREE 177]264.66|FEEBH [BcE NEE
4401985930 [M/RETWAZ (GRII) [125200  [AHETE BWERREREE 179] 264.2|3F2B% [BxE AFEE
440197418 | EXEE IB/RETIAE GRYI) (125200 | ~HEE BKEERREREE 177]263.56[FEE AE [BcE NEE
440193015 HE R [R/RETIWAZE CGRYI) (125200 | AHETE (IBBIEERERE L 176]262.99[3FF2 BE [BEE P
440192161 (5K R18  [IA/RETAZE GRYI) [125200  [AHEE (BBERRERELE 180[ 262.5[FF£B%I [BEE NEE
440185258 | KR [M/REETIAZ GRYI) [125200  [AHEE BWERREREE 177]262.37|FF=BF] [BE= NTE
440198560 ;1% IA/RIET A GRYI) (125200  [AHEE BKEEREREE 182[262.17[FE2BF [EcE NEE
440189544 BRERT  [IAZRETIAZ GRYI) [125200  [AHEE UENERRERIELE 183[261.67[FE£B%I |BEE NEE
440193099 |BkiR=  [M/RETIAZ CGRI) [125200 [AHETE BKEEREREE 182] 261[FE2HF [EcE NEE
440184169|B2RHE  |IA/RIETAVAS (GRYI) |125200 | AHET (BRI L 185[260.33[IE£ A& [BkE e
440185243 [ XIJFX IE/RETA A GRIID (125200  [NHETH BBERRERELE 185[259.04[FE£ B %I [BEE NEE
440198426 | Xi& IE/RETAAS CGRII) 1125200 [ HEHE IBBIEERERE L 182]|258.33[FF2 BE [BEE TP
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440196500|F7E884  [M/RETIAZ GRII) [125200  [AHEE (IBBIEERERELE 173| 258.1|FF£HT [BLE NEE
440189418 5K [IA/RETIAZ GRYI) [125200  [AHEE SEBEERRERIELE 178[257.83[FF£ B4 [BEE NEE
440186278| BT IE/RETAAS GRIID (125200  [NHETE GBERRERELE 178| 257 3|3k RF [BEE e
350186313 |4BF X |K/RETIAZ (GRII) (125200  [AHETE BRERREREE 172|257.17|3E£HE [BE NEE
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